
Q1: Lines AB andCDinrersecr arO. If LAOC + LBOE = 70° 

and LBOD = 40° , find LBOE and reflex LCOE. 

SOL: 

Lines ABandCDintersectatO. 

:. LAOC = LBOD 

But LBOD = 40° 

:. LAOC =40° 

Now, LAOC + LBOE = 70° 

⇒ 40° 

+ LBOE = 70° 

⇒ LBOE=30° 

(Vertically Opposite Angles) 

. . (i) 

( ii) 

Reflex LCOE = LCOD + LBOD + LBOE 

=LCOD - 40° 

+ 30° 

LCOD= 180° 

(iii) (using angle (i) and (ii) 

(as it is a straight line) 

Thus ,LCOE = 180° + 40° + 30° = 270° 

Q2: In rhe figure, line XY and MN inrersecr ar 0. 

If LPOY = 90° 

and a : b = 2 : 3, find c. 

Sol: 

Ray OP stands on line XY 

:. LPOX + LPOY = 180° 

Since LPOY = 90° 

(given) 

(as is linear pair axiom) 

⇒ LPOX = 90° LPOM + LXOM = 90° 

⇒a+b=90° 

a : b = 2 : 3 ⇒ { = i ⇒ a = 2k, b = 3k 

or �=!=k 

(i) 

Substituting the values of a and b in (i), we get 

2k + 3k = 90° 

⇒ 5k = 90° 

⇒ k = 18° 

:. a= 2k = 2(18° ) = 36° ...... (ii)

b = 3k = 3(18°) = 54° 

Ray OX stands on line MN (Linear pair axiom) 

⇒ b + C = 180° 

⇒ 54° 

+ C = 180° 

⇒ C = 180° - 54° 

(using equation (i i) 

⇒ C = 126° 

Q3: Prove rhar LPQS = LPRT in rhe given isosceles rriangle. 
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⇒ 116° + LYZX = 180° 

⇒ LYZX = 180° - 116° = 64° __ (i) 

YO is the bisector of LXYZ 

⇒ LXYO = LOYZ = ½LXYZ = ½(54° ) = 27° (ii) 

⇒ ZO is the bisector of LYZX

:. LXZO = LOZY = ½LYZX = ½(64°) = 32° . (iii) (from equation (i)) 

In triangle .6.0YZ, LOYZ, LQzy andLYOZ = 180° 

(sum of interior angle of a triangle is 180°) 

⇒ 27° 
+ 32° 

+ LYOZ = 180° ( using equation (i) and (ii)) 

⇒ 59° 
+ LYOZ = 180° 

⇒ LYOZ = 180° - 59° = 121° 

015: In the figure,AB = ½DE,LBAC = 35°andLCDE = 53° ,find LDCE. 

Sol: 

LDEC = LBAC = 35° ... (i) (alternate interior angles) 

LCDE = 53° ____ . (ii) (given) 

In .6.CDE, LCDE + LDEC + LDCE = 180 ° 

(as sum of interior angles of a triangle is 180° . 

⇒ 53° 

+ 35° 

+ LDCE = 180° 

⇒ 88° 

+ LDCE = 180° 

⇒ LDCE = 180° - 88° = 92° 

Q16 _ In the figure,if lines PQ and RS Intersect at point T,such that LPRT = 40° LRPT = 95°, LSQT = 75°, findLSQT. 

Sol: 

In In .6.PRT, LPTR + LPRT + LRPT = 180 ° 

(as sum of interior angles of a triangle is 180 ° ) 

⇒ LPTR + 40° 

+ 95° = 180° 

⇒ LPTR + 135° = 180° 

⇒ LPTR = 180° - 135° 

⇒ LPTR = 45° 

⇒ LQTR = LPTR = 45° 

(vertically opposite angles) 

In .6.TSQ, LQTS + LTSQ + LSQT = 180° 

(as sum of interior angles of a triangle is 180° 

⇒ 45° 

+ 75° 

+ LSQT = 180° 

⇒ 120° 

+ LSQT = 180° 

⇒ LSQT = 180° - 120° 

⇒ LSQT = 60° 

Q17: In the figure, if PQ l. PS, LSQR = 28° and LQRT = 65°,then find the value ofx and y. 

Sol: 






